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8 A simple digraph which does not have any cycles is

called
(a) reachable set (b) circuit

(e) acyclic (d) none of the above

9. In a directed tree, any node which has out degree
0, is called a
(a) leaf

(¢) acyclic

(B) circuit
(d) none of the above
10. A set of disjoint tree is called a

" (a) leaf (b) acyeclic

(c) forest (d) none of the above
PART B — (5 x b = 25 marks)
Answer ALL questions, choosing either (a) or (b).
BEach answer should not exceed 250 words.

11, (a) Demonstrate that R is a valid inference from

the premises P > @, @ > R and P.
Or
(b) Symbolize the expression.
(i)  “All the world loves a lover”
(ii) “All men are giants”.
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12.

13.

14.

15.

(a)

(b)
(a)

(b)

(a)

(b)
(a)

(b)

Write down the equations for distributive
laws of union and intersection also draw the
ven diagram.

Or

Write about classification of functions.

Define a matrix and explain with example.

Or

Find the Eigen values of the matrix
1 2 2
T s
-1 2 2

Prove that every graph is an intersection
graph of some family of subsets.

Or
Write about Hamiltanian graph.

Prove that A tree with n vertices has n-1
edges. '

Or

Prove that A graph is a tree if and only if it is
minimally connected.
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